CL Example:

Our data, created by random number generation, constitutes the 




answer by a sample of voters to a poll, about whether a person 




would vote for Meg Whitman for governor.




Each of you created two samples of random data, one of size 15 




and one of size 50, and then found the number of successes (those 




answering yes to the posed question) and used Excel to compute the 




sample proportion to 3-significant digits.  In addition, we used 




Excel to change our random data from 0’s and 1’s to no’s for 0’s 




and yes’s for 1’s, so that it would make more sense to the general 




population.  You have that data in front of you today.  In addition 




to x, p-hat and q-hat, I have calculated the lower boundary and the 




upper boundary for an 80% CI for the population mean.  You will 




find this just below the values of q-hat in the n=15 columns (under 




the 0&1’s column is the lower boundary and under yes/no’s column is the upper 




boundary)

Our group task list:



1)  If you have an index card, group with the person to your right.



2)  Together re-calculate the 80% CI for the n = 15 sample on each of your 



      pages.



3)  Now as, “player & coach” alternately, calculate your 95% CI for 



     n = 15 while the other member of your group watches/gives pointers



4)  Let’s look at the graph of all 12 of our CI that I created for this purpose 



     and discuss the following questions:




a)
We created our data based upon a population proportion of 





38%, but looking at your data & your partner’s data, is 





p-hat 38%?  Why not?  If one is, then why isn’t the other?




b)
Look at the diagram of the 12 CI’s.  Why are some 





intervals different widths?




c)
How many of the 12 bracket the true pop. proportion?




d)
Why don’t all of them include the true pop. prop.?




e)
Did you expect more or less to contain the true prop? Why?




f)
If a student said to you that there is an 80% chance that 





their CI contains the mean, have they correctly interpreted 





the CI?  If not, how could you restate their findings to make 





a correct statement?




g)
I’ve provided you with a sheet that lists all the intervals, 





highlight all intervals that don’t contain the true population 





proportion.




h)
How do the 80% & 95% CI compare?  Are the 95% more 





accurate?




i)
How many of the 95% would be expected not to contain 





the pop. prop?




j)
Now, looking at the width of the 80% and 95% CI’s, what 





do you notice?  Why, is there a difference? (state the 





difference in terms of the normal distribution)

